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RATIONAL NUMBERS

A number of the form & where and e integers and 0 1s called a rational number
phed the numeraior and 5 Cated the denomnalior
For example:
1 3 9 0 aas o ’ 4 7 ’
4 9 oic . are all ratonal numbers. However, we do not include where O is
[ ) ,
3 o )

in the denominator. Such extended numbers are called the system of rational numbers

5 | Numerator

Denominator e 6

RATIONAL NUMBERS

Equivalent rational numbers

4 -
Lot~ be a ratonal number and m be any integer excopt O and 1
g

" pxm
Then, ¢
" gxm
5 5x2 0
y - > 14
. 2 3
5 10
So. =~ and are equivalent rabonal numbers
. y 14
J -
For example
Y 4 6 _ B8
N 15 \

Such numbers are called equivalent rational numbers

Positive and negative rational numbers

. . 5 [ . - . \
i 2 and b are positive integers, then the ratonal numbers and are both positive and the
b b

- N
rabonal numbers - and I are DOIh negative
- h -
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Ex 9.1

Question 2:
Write four more rational numbers in each of the following patterns:
> -3 -6 -9 -12 = -1 -2 -3
(i) — e e (i) ——,— e
5 10 15 20 4 8 12
gig <22 8% 4 v =248 .
6 —-12 —-18 -24 3 3-6-9
€ Answer 2:
y -3 -6 9 -12
(l) T P S e N s GnerRReune
51015 2

—3x1 —3x2 —3x3 -3x4

: * , , geececes
S5xI 5x2 5x3 5x4
Therefore, the next four rational numbers of this pattern would be
—3x5 —3x6 —3x7 -3x8 _ -15 -18 21 24
5x5 5x6  5x7  5x8 25730 35 40
- -1 -2 -3
i et e o SO
i) 4 8 12
—1x1 —=1x2 —-1x3
=> . s gessssssace
4x] 4x2 4x3
Therefore, the next four rational numbers of this pattern would be
—Ix4 =Ix5 —1Ix6 -1x7 -4 -5 -6 -7
4x4  4x5 4x6 4x7 162072428
g Sttt .
6 —-12 -18 24
—-Ix1 1x2 1Ix3 1x4
= —— s

6x1 —6x2"—6x3"—6x4"
Therefore, the next four rational numbers of this pattern would be
Ix5 1x6 1Ix7 1x8 _ 5 6 7 8

—6x5 —6x6 —6x7 —6x8 —30"-36"—42 48
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: -2 2 4 K =

(lV] s T, )

3 3-6

-2x1 2x1 2x2 2x3

3x1 "—3x1’—3x2"-3x3’

Therefore, the next four rational numbers of this pattern would be
2x4 2x5 2x6 2x7 _ 8 10 12 14

—3x4'-3x5 -3x6 -3x7 -12"-15"-18" 21

B
By

Question 3:
Give four rational numbers equivalent to:

; -2 - 5
(i) e (ii) = (i) -
£ Answer 3:
: -2
(i) 7

2x2 -4 —2x3 -6 -2x4 -8 -2x5_ -10

7x2 14' 7x3 21° x4 28 7x5 35

Therefore, four equivalent rational numbers are = ,—_2 ,_—8_—19 ;
14 21 28 35
o 5
ii =
OIS

5x2 10 5x3 _15 5x4 20 5x5 _ 25

3x2 —6' 3x3 9 Brd=? 3x5 -15
10 15 20 25

Therefore, four equivalent rational numbers are —, — , — ——.
-6 -9 -12 -15

4
iii —
(iii) 3
4x2 8 4x3 12 4x4 16 4x5 20

9x2 18 9x3 27 9x4 36 9x5 45
8 12 16 20

Therefore, four equivalent rational numbers are —,—,—,—.
18 27 36 45




